
dXt = bXt dt+ σ1 dW1(t) + σ2 dW2(t), X0

dYt = αXt dt+ σ dW1(t), Y0 = 0

Gt = σ(Ys, 0 ≤ s ≤ t)

X̂t = E(Xt | Gt)

a = σ2
1 + σ2

2

b, σ1, σ, α

Equazione di tipo Riccati

R′
t = a+ 2 bRt −

(
σ1 +

α

σ
Rt

)2
, R0 = Var(X0)

dX̂t =
(
b− ασ1

σ
− α2

σ2
Rt

)
X̂t dt+

αRt + σ σ1
σ2

dYt, X̂0 = E(X0)

ϕ(t) := b− ασ1
σ
− α2

σ2
Rt

ψ(t) :=
αRt + σ σ1

σ2

X̂t = e
∫ t
0 ϕ(r) drX̂0 +

∫ t

0

e
∫ t
s ϕ(r) drψ(s) dYs

= e
∫ t
0 ϕ(r) drX̂0 + ψ(t)Yt −

∫ t

0

Ys (ψ
′(s)− ϕ(s)ψ(s)) e

∫ t
s ϕ(r) dr ds

1


